The equations 2x + 3y + 4 = 0; ABLES

3x + 4y+6 = 0 and 4x+ 35y +8=0

are

(a) consistent with unique solution

(b) inconsistent

(c) consistent with mfinitely many
solutions

(d) None of the above
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ffA=|7 8 9‘,the'n S| 316
110 x 5] 87,9
equal to:
(a) A (b) —A

(c) Ax (d) 0
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IfA=]0 (@ O] thenthevalueof
10 0 (a]
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(@) a* (b) a

(c) a° (d) a?



If area of triangle 1s 4 sq units with ABLES on.
vertices (-2, 0), (0, 4)and (0, k), then
k 1s equal to

(@) 0,-8 b) 8

(c) -8 () 0,8
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If’A:{ } and | 43| =125, then
2 o

the value of o 1s
@) =1
(c)£3

(b) =2
(d) =5
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Ifthematrix [ 4 g | 1s
3 5 10

singular, then A =
@) —2 (o) 4
(© 2 (d) —4



If each of third order/ determinant of
value A'is multiplied by 4, then value
of the new determinant 1s:

@ A (b) 2I1A

(c) 64A (d) 128A
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I[fA= , then the Value of |
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Ifp, q,rare in A.P., then the value of
x+4 x49 x4+

|

i : 1S
x+6 x+1l1 X +r]|
(@) x+15

(b) x+20

(C-) X+tpt+tq+r
(d)None of these

x+5 x+10 x+q
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The determinant| —sin® —x

1S

(@)
(b)
(c)
(d)

cos 6 |

independent of O only
independent of x only
independent of both 6 and x
None of the above

X sino cosO
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X
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